SDOR=

2019 YA L22[AL 12H-7HZ 672244

1| 237d 84 4=
23 2A-27|(Z2)
146~ 146p @ 2420| FAE LRE| 21H0] 2Lt ALRt @ 2420] 2 AE LHE| 2130] 2|LiR| OFL|3F At2t
H35 59
12 2H-27|(212)
158"‘158[) [Eju
S| 208 &7, 3
S @ 1[m>]e] TA|PIAE 2FHMALA|Z|E G| 0|2F7|ZH2 9.52
5 ;29 [m3]olct.
@ DfEte| ZEYH-HR= 57| 29 5% 5~15[%]0|Ct,
[£7]] @ FEto| Zutol 27| 20| 5= 1.8~8.4[%]0|C}.
@ 1[m3]2] ZAIZIAS QHAAAT | O AA Lo ZI|2e
4~5[m3]o|ct. [5H4]
@ D] ZFUHL|= A4 9| 5& 5~15[%]0[C} @O ZAI7tAL] 2HE2 OIEHCH4)0|22 ST|HIZ2
@ REto| ZHHR= MA F2| 55 1.8~8.4[%]0|Ct, 16/29=0.552A &7|EC} 0,558 7t
LPGE UBHMRIIAR FARCQ ZRIHC JH )T REHC,H,
(o4 o=z
LPGE 0—|H§|'}£I|‘|9r7|'ﬁi 12_%5(& EEEI'(C3H8)-?—|' —‘?'—E._l'(C4H,]o EEI&% 44/29:1 52, —‘?—EJ% 58/29:2
=] Z7|ECH Z2T 1 52HY, BERS 28 22t
I2W2 44/29=1.52, £E2 58/29=2 @ ZAI7tAL| AR E INGO|Z INGO| F4 &2 Of|Eto|Ct,
27|80t T2 | 52 HERS JHi 22T} CH4 + 202 — CO2 + 2H20
22.4[m3] 2%x22.4[m3]
1[m3] x
-O|2AtAEF x = (2%22.4[m3])x1[m3]/22.4[m3]=2[m3]
- 0|237|% = 2[m3]/0.21 = 9.52[m3]
Mo 2F32 st50 EHER M MO = AlRtERLICE
O L2 EAME UHS7| 9ol =3st= Al R|F0| & AELICE




